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Fig. 1. The red chromatogram refers to a standard solution of Curcumin (CU), Bisdemethox-ycurcumin (BDMC) and Demethoxycurcumin (DMC) (monitored at 420 nm), the blue to sample C1 and the green to sample C2.
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Fig. 2. Gallbladder: basal spontaneous contraction activity. Zero represents the basal tone, and each point is the percent variation (mean ± SEM) (n = 3) from the baseline after cumulative addition of each dose; when the error bar is not shown, it is covered by the point. *p<0.05, vs basal tone (One sample t test).
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Fig. 3. Distal bile duct: basal spontaneous contraction activity. Zero represents the basal tone, and each point (mean ± SEM) (n = 3) is the percent variation from the baseline after cumulative addition of each dose of C1 and C2; when the error bar is not shown, it is covered by the point. **p<0.01 vs basal tone (One sample t test); °°p<0.01 vs C2 same concentration (ANOVA and Bonferroni post hoc test).
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Fig. 4. Sphincter of Oddi: basal spontaneous contraction activity. Zero represents the basal tone, and each point (mean ± SEM) (n = 3) is the percent variation from the baseline after cumulative addition of each dose of C1 and C2; when the error bar is not shown, it is covered by the point.
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Fig. 5. Ileum: basal spontaneous contraction activity. Zero represents the basal tone, and each point is the percent variation (mean ± SEM) (n = 3) from the baseline after cumulative addition of each dose of C1 and C2; when the error bar is not shown, it is covered by the point. *p<0.05, **p<0.01 vs basal tone (One sample t test); °p<0.05 vs C1 same concentration (ANOVA and Bonferroni post hoc test).
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[bookmark: _GoBack]Fig. 6. Colon: basal spontaneous contraction activity. Zero represents the basal tone, and each point (mean ± SEM) (n = 3) is the percent variation from baseline after cumulative addition of each dose of C1 and C2; when the error bar is not shown, it is covered by the point. *p<0.05, **p<0.01 vs basal tone (One sample t test); °° p<0.01 vs C2 same concentration (ANOVA and Bon-ferroni post hoc test).
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